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M.A. (Fourth Semester)
EXAMINATION, MAY-JUNE 2022

POLITICAL SCIENCE
Paper Sixth

()

Time : Three Hours] [Maximum Marks:80

   

Note : Attempt all sections as directed.



Section-A

 

(Objective/Multiple Choice Questions)

(1 mark each)

    

Note : Attempt all questions.

  

Choose the correct answer:

P.T.O.
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1. 
 

(A)   

(B) 

(C)  

(D)   

On whose recommendation joint advisory council was
established?

(A) First pay Commission

(B) Second pay Commission

(C) Third pay Commission

(D) Administrative Reforms Commission

 


(A) 

(B) 

(C) 

(D) 

Which of these countries gives right to go on strike to its
civil servants?

(A) Britain

(B) Germany

(C) France

(D) U.S.A.
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3.   

(A) 

(B) 

(C) 

(D) 

The word Bougette is a part of this language

(A) Latin

(B) Spanish

(C) French

(D) German

4.    

(A) 

(B) 

(C)  

(D)  

Principle of Budget are:

(A) Publicity

(B) Clarity

(C) Balanced Budget

(D) All of the above
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5.   

(A) 

(B)    

(C)  

(D) 

The tools of citizen's control over public administration
are:

(A) Election

(B) Recall

(C) Pressure groups

(D) All of the above

6.    

(A)  

(B) 

(C) 

(D)  

Which is not judicial control method :

(A) The writ of habeas corpus

(B) The writ of mandamus

(C) The writ of prohibition

(D) Administrative tribunal
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7.  

(A)  

(B) 

(C) 

(D)  

The leadership qualities are :

(A) Self confidence

(B) Courage

(C) Responsibility

(D) All of the above

8.  

(A) 

(B) 

(C) 

(D)  

The types of decision are:

(A) Functional

(B) Non Functional

(C) Basic decision

(D) All of the above

P.T.O.
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9. 
     

(A) 

(B) 

(C)  

(D) 

Who said communication means the process of pass-
ing information and understanding from one person.

(A) Theo Haimann

(B) Newman & Sumer

(C) F.G. Mayor

(D) Terry

10. 

(A) 

(B) 

(C) 

(D) 

The organs of communication process are:

(A) Communicator

(B) Message

(C) Media

(D) All of the above
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11.  

(A) 10

(B) 15

(C) 20

(D 27

How many forms of the corruption?

(A) 10

(B) 15

(C) 20

(D) 27

12.  

(A) 

(B) 

(C) 

(D) 

The institute "Ombudsman" is first establish in which
country?

(A) New Zealand

(B) England

(C) India

(D) Sweden

P.T.O.

[8]

F - 887

13.  

(A) 

(B)  

(C) 

(D) 

Public Relation Machinery in India are:

(A) Broadcasting

(B) Newsreels

(C) Publication

(D) All of the above

14.     

(A) 2

(B) 4

(C) 6

(D) 7

How many elements of the publications according to
mellet?

(A) 2

(B) 4

(C) 6

(D) 7
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15.  

(A) 

(B)  

(C)  

(D) 

Types of urban local bodies are:

(A) Municipal corporation

(B) Municipalty

(C) Special purpose agency

(D) All of the above

16.    

(A)  

(B) 

(C)  

(D) 

Who decides the election of Panchayat?

(A) Election Commision

(B) State Government

(C) Central Government

(D) All of the above

P.T.O.
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17.   

(A) 

(B)  

(C)  

(D)  

The agency of Rural Self Government on district level is

(A) Panchayat

(B) Panchayat Committee

(C) Zila Panchayat

(D) Janpad Panchayat

18. 

(A)  

(B) 

(C) 

(D) 

Panchayati Raj System is:

(A) First-tier

(B) Two-tier

(C) Three-tier

(D) Fourth-tier
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19.    

(A)   

(B)   

(C)  

(D)   

Who gave opinion for Panchayati Raj System in India?

(A) Jay Prakash Narayan

(B) Pandit Jawahar Lal Nehru

(C) Mahatma Gandhi

(D) Achary Vinoba Bhave

20.      

(A) 

(B) 

(C) 

(D)  

Who appoint Lockyukt?

(A) Governor

(B) President

(C) Prime Minister

(D) None of the above

P.T.O.
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 

Section -B

  

(Very Short Answer Type Questions)

(2 marks each)

   

Note : Attempt all questions (word limit 30 words)

1.     

Explain the meaning of personnel Administration.

2.    

Explain the importance of Budget.

3.    

Explain the meaning of Financial Administration.

4. 

What do you mean by leadership?



[13]

F - 887

5.     

Write any two characteristics of decision making.

6.     

Write any two definitions of communication.

7.      

Write any two essential of effective communication.

8.    

Explain the meaning of accountability.



(Section-C)

 

(Short Answer Type Questions)

(3 marks each)

    

Note : Attempt all questions (word limit 75 words).

P.T.O.
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    

Explain the objects of training.

     

Explain the importance of the financial administration.

    

Explain the principles of the Budget.

    

Explain the means of judicial control.

    

Explain the types of communication.

  

Explain the importance of communication administration.

    
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Explain the types of leadership.

       

Explain the Media of public relations.



(Section-D)

 

(Long Answer Type Questions)

(5 marks each)

     

Note : Attempt all questions (word limit 150 words)

     

Explain the objects of personal administration.

      

Explain the Budgetary process in India.

P.T.O.
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   

Explain the basis of decision making.

     

Explain the citizen's control over administration.


